NHS-TH(EHHHY 1)

L1

oD
L (D]
¢D2
SNTE elv; RILS
HUWME | B & i S, W D, D- B
0 0 +0.1
L b 0.1 JS2!k | go 0.4
NHS 3T 27 12 6 M3x0.5 7 6.5 8 45
NHS 4T 31 14 7 M4x0.7 8 8 95 5.3
NHS 5T 35 16 8 M5x0.8 9 9 11 6
NHS 6T 39 18 9 M6 X1 11 10 13 6.75
NHS 8T 47 22 12 M8 X 1.25 14 125 16 9
NHS 10T 56 26 14 M10%1.5 17 15 19 105
NHS 12T 65 30 16 | M12x1.75 19 175 22 12
NHS 14T 74 34 19 M14x2 22 20 25 135
NHS 16T 83 38 21 M16X2 22 22 27 15
NHS 18T 92 42 23 M18X1.5 27 25 31 16.5
NHS 20T 100 46 25 M20X 1.5 30 275 34 18
NHS 22T 109 50 28 M22X1.5 32 30 37 20
€7 )= [Eh&DIZEHHB L]
LS :S35C(ZOX— ML)
NHS3T.NHS4TIZDWTIF820C {ERZH DA E
IKEMS  SUJ2 HRC5SLIE o=
& h7
B S O > =R A
fe 12 URERRTR G AUETE U FHERERE p6
Jyyva HE[Shepeli oyl
FEURZEDIERE]
NHS10T L
LU AL AN
WOwE T
ERU
8BS DY O—RE7 I AT AT
[23-8 AnAIK BT EEREL TS https://tech.thk.com




